
s{ec$}a'f Paper / Subject

Total marks: 75

Figures to the right indicate marks.

q.1. (a) Match the columns

t. Fictitious Assets

2. Disclosure.

3. Pure ratio

4. Debtors velocitY

5. Accrual ConcePt

6. Liquid Ratio

7. Zero Working caPital

8. Matching aPProach.

9. Depreciation

10. M-M ApProach
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Calculate the following
Acid Test Ratio, Stock

Proprietory ratio

(1s)

Rs. 1,09,000 Profit Before tax= Rs. 2,1O,OOO

Balance sheet of "Heera Co.Ltd.,, and

(8)

oyed.,

TIABILITIES AMr (RS.)
Equity Share capita I .,#..-i'1.'' 2,96,000
General Reserve ffi1.i:'..5 t,!2,000
Preference tlado' , ' 

. L,01,000
Debentu res 20,000
Trade 49,000

38,000

14,000

ASSETS AMr (RS.)

Building 6,00,000
Land 2,00,000
Plant & Machinery 6,00,000
Stock 4,00,000

000 Cash 2,00,000
'1,00,000

2,00,000
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Q.2. Following is the information of

.*lI

PrepareItd.company
for the same.

Total production for the yeai = 78,000 units.
Cost structure (Rs. Per unit.)

Raw material = Rs.40

Wages = Rs. 20

Overheads = Rs. 30

Profit = Rs. 30

t. Raw material remains in stock for 8 weeks.

2. Processing period is 2 weeks.

3. Finished goods remain in stock for L0

4. Customers are given credit for 9
5. Suppliers give us credit for 8
6. Time lag in payment of wages a

7. Cash Balance = Rs. 1,05,000.

8. Assume 52 weeks in a year

Q.3. From the below balance sheet

Q,3.(A)

Sa[es.= Rs.

calculate

ree,iVables

AMr(RS.)

,2,00;000 ..,,.

Bills p'aya,ble

Provision for
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Paper / Subject Code: 79710 / Management Accounting

4.3 (B) From the following information, calculate Gross profit, Stock
before tax ratio, Ope rating ratio, Office expenses ratio. (Vertical

Q.4. From the following detaits of 3 companies
Walter's model when dividend payout is 1.

Q.4 (B)

e existing share holders. Forthis profit and Loss

both proposals.

the following companies.

o

(8)

Pa rticu la rs Amt (Rs.) Pa rticula
Opening stock 271.50 Sa les
Pu rchases 163s75 Closing
Carriage inward 4275

________i_
lnterest recbil

Office expenses 45000 Net profit
Selling expenses 13500
Loss on sale of Asset 1200

ti. r: i t!.
I ::1'

:_.-..::: ..:l

Pa rticu la rs ABC Co
lnternal rate of Return t5%
Cost of Equity 10%
EPS Rs. 8

LIABILITES
- AMT (Rs.)

Share Capital (10,000

shares of rs. 10 each) (

Paid up)

1,26,000

Reserves and Su

General R

Reserve

Capital

I share roportion of Equity
Capitalto preference

capital

P Bonus ratio

3:2

1,:1,
25,00,000 t:1,
25,00,000
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